Cll# Phép cOng trong gidi han 5 Ho va Tén:

Giai cac cau hoi.

Cau tra loi

D 4 + 1 = ) 4 + 0 =
I — 1.
2.
) 3+ 2 = % 2 + 1 = >
4.
5.
S) I + 2 = 6) 1 + 3 =
— — 6.
7.
3 + 0 = § 5 + 0 = >
9.
10.
9 5 . 5 = ) 3 . 2 =
— — 11.
12.
11y 4 - 1 = 12 1 - 1 = 13.
14.
15.
13) 3 - 3 = 14) 5 - 1 =
— — 16.
15 5 _ o9 = 16) 5 . 4 =
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Ch Phép cOng trong gidi han 5

Ho va Tén: Loi gifli

Giai cac cau hoi.

Cau tra loi

D 4 + 1 =5 ) 4 + 0 =4 <
I — 1.
2 4
3 = 4 = 3. S
) 3 + 2 =5 ) 2 + 1 =3
4 3
5. 3
S 1 + 2 =3 © 1 + 3 =4 4
— — 6.
7. 3
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9 5 -5 =20 10) 3 - 2 =1 3
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11) 4 - 1 =3 12) I - 1 =0
14, 4
15. 3
13) 3 . 3 =0 4 5 . 1 =4 § |
15) 5 - 2 =3 16) 5 - 4 =1
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Vi

Phép cOng trong gidi han 5 Ho va Tén:
Giai cac cau hoi. Cau tra loi
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